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Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het 
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op. 

Tekst 1  TV: Sport 

1p 1 Which of the following titles fits this text best? 
A Rugby legend changes the rules of the game 
B Rugby legend denies any wrongdoing 
C Rugby legend makes peace with his past 
D Rugby legend signs up with a rival team 

Tekst 2  Darwin barking up the right tree 

1p 2 Which of the following fits the gap the text? 
A back up 
B overlook 
C revolve around 
D undermine 

Tekst 3  Is the human brain like a computer? 

1p 3 Welk stijlmiddel heeft de schrijver van deze brief ingezet om zijn punt te 
maken? 
A eufemisme 
B opsomming 
C personificatie 

1p 4 Which of the following describes the paradox presented in this letter? 
A The computer does actually formulate an answer while claiming to be 

unable to do so. 
B The computer is aware it lacks the ability to solve a particular problem 

but refuses to admit that. 
C The computer is unwilling to answer a question though that conflicts 

with what it is programmed to do. 


